Untitled.notebook December 17, 2015

\/JavNL o Questions

e
e

L3 (B5-an) — (3ax -5)

2. 5x9—35><+|Q
S

3. 20-5) = (A 3w) —5(x2-2)
Eo (3 ~HX+2) * 1




Untitled.notebook

l. m> -lm@

7 Bx*-qx +8




Untitled.notebook December 17, 2015




@}3 5) =I(xL34) —5(x2-73
@ 10 E1dan-a Fsxle 1o

T Tox3 +5x—9\




Untitled.notebook December 17, 2015

T (‘Md "Wﬂﬂ 1

Mx* - gy
FER +3[%

&X)\ ~L{ax +Q)



	Page 1: Dec 17-9:28 AM
	Page 2: Dec 17-9:37 AM
	Page 3: Dec 17-9:37 AM
	Page 4: Dec 17-9:37 AM
	Page 5: Dec 17-9:37 AM

